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General Instructions:

i. This question paper consists of 46 questions in 4 sections.

ii. All questions are compulsory. However, an internal choice is provided in some

questions. A student is expected to attempt only one of these questions.

iii. Section A consists of 30 objective type questions carrying 1 mark each.

iv. Section B consists of 6 Very Short questions carrying 02 marks each.

v. Section C consists of 6 Short Answer type questions carrying 03 marks each.

vi. Section D consists of 4 Long Answer type questions carrying 05 marks each.

Ts-A Section-A
75 1 - 30 9 W I @ forq fg QAR ferepedt 7 9 ekt Sueh farded @ a3 ford e
SR & foTY DI THRICHD 3T TE 81
Select and write the most appropriate option out of the four options given for each of the
questions 1 - 30. There is no negative mark for incorrect response

Q. Nos. U4 QUESTIONS MARKS

1. FreforRaa & F i Y arfyfehar Syeamendt arfifehar 82 1
a) DIl BT =T




b) FRGTeT YTl BT WIS & e

c) &I & ufehar

d) PIeeRH BECT BT ATHCT PR TGN AT 3R DI SILATTATES T
Which of the following reactions is an endothermic reaction?

a) Burning of coal

b) Decomposition of vegetable matter into compost

c) Process of respiration

d) Decomposition of calcium carbonate to form quick lime and carbon dioxide

Y aTel ST BTG Io FeiRTSS I CRIR < & SRM, T BT 3R TR $ietRIT FARTES Joh TS od A
TSTRT T 81 RS g H fofT Y Sfcerye FilkTgs i e &

a) S T BT ey =T

b) =T T 7 BT

c) T & =Y P raenfig dAT

d) SR I & TR TR T TGN B_AT

During the preparation of hydrogen chloride gas on a humid day, the gas is usually passed

through the guard tube containing calcium chloride. the role of calcium chloride taken in the
guard tube is to
a) Absorb the evolved gas
b) moisten the gas
¢) Absorb moisture from the gas
)

d) Absorb chlorine ions from the evolved gas

erAfeRee o ¥ I AT FHIITT A0N F &l 8T Il 87
a) IR I 7 IR

b) --CH, 3iR 14u 3MMUTfIE G & 3feR
SRINERRIREILCI

d) T BRI g

Which of the following is not observed in a homologous series?
a) change in chemical properties

b) The difference in --CH,and 14 u molecular mass

c) Gradation in physical properties

d) Same functional group

frferRaa = & i 4t fefawermoe sififear &2

i) Pb + CuCl, — PbCI, + Cu

ii) Na, SO, + BaCl, — BaSO, + 2NaCl
)C+0,— CO,

iv) CH,+ 20, — CO, + 2H,0

a) (i) 3R (iv)

b) e (ii)

c) (i) 3R (ii)

d) (iii) 37X (iv)

Which among the following is(are) double displacement reaction(s)?
(i) Pb + CuCl, — PbCI, + Cu

ii) Na, SO, + BaCl, — BaSO, + 2NaCl

C+0,—CO,

CH, +20, — CO, + 2H,0

(i) and (iv)

(ii) only

—~ o e~ =

(

(iii)
(iv)
(a)
(b)




(c) (i) and (ii)
(d) (iii) and (iv)

STt T T STTEe U JTEre S1T1haT &1 STeT b (el JTEe P QR b 81 dTell BTgIoM
3R 3iTerAIST TAT T AT SR &

(a)1:1

(b) 2:1

(c) 4:1

(d)1:2

Electrolysis of water is a decomposition reaction. The mole ratio of hydrogen and oxygen
gases liberated during electrolysis of water is

(a) 1:1

(b) 2:1

(c) 41

(d) 1:2

T ST ENeT SATeT TN Bl T —ieTT X ol 81 fFoiRad & & fohsT Biet @ 31feres J1ar 3
firetr & g yRaciH Sele STem?

(a) ST USER

(b) ZT

(c) IR BTSSaITSS Bl

(CEESERITEANES

An aqueous solution turns red litmus solution blue. Excess addition of which of the following

solution would reverse the change?
(a) Baking powder

(b) Lime

(c) Ammonium hydroxide solution
(d) Hydrochloric acid

BT ISR BT U TIceh QTSI ETZGIST PIEMT &, AN IS &
a) EEGITANRS TRie

b) erERa TRrs

c) tfafess thie

d) FeRgRe TS

One of the constituents of baking powder is sodium hydrogen carbonate, the other

(
(
(
(

constituent is

(a) hydrochloric acid
(b) tartaric acid

(c) acetic acid

(d) sulphuric acid

ET3T T TR Uciel TR H It Y & bl T Bed &
(a) I=IdT

(EIPISEIZEI

(c) eafr g

(d) dTetehdT

The ability of metals to be drawn into thin wire is known as
(a) ductility

(b) malleability

(c) sonorous

(d) conductivity

fFr=feRad & Q B 3TRIfep A 8T 872
(i) KCI (ii) HCI (iii) CClI, (iv) NaCl

(a) (i) 3R (ii)

(b) (i) 37 (iii)




(c) (i) 3R (iv)

(d) (i) 3R (i)

Which of the following are not ionic compounds?
(i) KCI (ii) HCI (iii) CCl, (iv) NaCl

(a) (i) and (ii)

(b) (ii) and (iii)

(c) (i) and (iv)

(d) (i) and (iii)

10.

ferfeRee # < e iffies ¥ —OH Prifee g 22

(a) A

(b) et

(c) g 37T

(d) &I

In which of the following compounds, — OH is the functional group?
(a) Butanone

(b) Butanol

(c) Butanoic acid

(d) Butanal

11.

Jifid CH, — CH, — CHO &AM &

(a) AT

(b) FTIA

(c) e

(d) §FeT

The name of the compound CH, — CH, — CHO is
(a) Propanal

(b) Propanone

(c) Ethanol

(d) Ethanal

12.

3MMER it & {5 ATRT & IS ot SAferT UTer BlelT 82

(a) MHR™T

(b) 8 T&T

OESIEIS]

(d) BIST 31T

In which part of the alimentary canal food is finally digested?
(a) Stomach

(b) Mouth cavity

(c) Large intestine

(d) Small intestine

13.

a) ATl 3R TR

b) s ¢ TfeaTelt

¢) Ufeairett iR Ter

d) T 3fR T

During respiration exchange of gases take place in

(
(
(
(

(a) trachea and larynx
(b) alveoli of lungs

(c) alveoli and throat
(d) throat and larynx

14.

RIS & IR H (FFTCTRIT J A DI AT DB T 57 (i) RIS BT G Ara dTell |17 78
HRTSD B (i) e, e, TIcT, ¥ 31fe & b a1y AfkTses 7 Reere 81 (i) TR, I, Ihard St
e fehad oy ARETS® H R Agat gRT FRIFAT Bidlt 81 (iv) AR SRR 6 53T 3R FerT




&1 PRI 78T aar 2l

(a) (i) 3T (ii)

(b) (), (i) 3 (i)

() (ii) 3R (iii)

(d) (iii) 3R (iv)

Which of the following statements are true about the brain? (i) The main thinking part of
brain is hind brain (ii) Centres of hearing, smell, memory, sight etc are located in fore brain.
(iii) Involuntary actions like salivation, vomiting, blood pressure are controlled by the
medulla in the hind brain (iv) Cerebellum does not control posture and balance of the body
(a) (i) and (ii)

(b) (i), (i) and (iii)

(c) (ii) and (iii)

(d) (iii) and (iv)

15.

ST SIS BT TAIT BY

a) TSTerS: fUegest 4fy
b) SRR guur

¢) TRCIS: 3TSTerRT

d) ARRIFET: ARRTS Afer
Select the mis-matched pair

(
(
(
(

(a) Adrenaline: Pituitary gland
(b) Testosterone: Testes

(c) Estrogen : Ovary

(d) Thyroxin: Thyroid gland

16.

Teb thef H, 7R 3R HIGT JiHe (3HRUT DIfADIY) Ieq~T e alel HFT &

In a flower, the parts that produce male and female gametes (germ cells) are
a) stamen and anther

b) filament and stigma

c) anther and ovary

d) stamen and style

17.

3rfiaT, TTSRITRRT 37 AT & Ui+ &Y U A= [T I8 & fs

(a) T 3eifieh BT I TT I &

(b) T T THDITAHRT &

(c) I Fet ifiehs T J Ui vl &

(d) I Tt IgITRIHIT &

A feature of reproduction that is common to Amoeba, Spirogyra and Yeast is that
a) they reproduce asexually

b) they are all unicellular

c) they reproduce only sexually

d) they are all multicellular

(
(
(
(

18.

T ST TS AT H A I AGTUT BT I D (0T TN (AT ST ADT & e AR 5 &Y el
a) 3TRET &7 FT

b) =T T T

c) IRR BT MHR

d) aTalt T gPfer

From the list given below, select the character which can be acquired but not inherited

(a) colour of eye

(b) colour of skin

(
(
(
(




(c) size of body
(d) nature of hair

19. TITpeiep A GRT ST b fefepT 2T ATt feram T o
(a) HSeT
(b) ST
(c) °F
(d) JHTH
The theory of evolution of species by natural selection was given by
(a) Mendel
(b) Darwin
(c) Morgan
(d) Lamarck
20. frfetRad 5 & $I AT $2F T 872
(a) e STl & o 4 SRITCR 1fh Bl & FTaehT thiepd g3 0.25 HieR &Il &
(b) e STl & H —4 SITCX 1feh Bl & T thiepst g1 0.25 HieR &Il &
(c) Ueb 37arciel ol A 4 SAITeR 2feh Bldil & frqeh! thiepdt g3t 0.25 HicR &t &
(d) &b JFeTeT o 5 —4 SRR Afeh &Il & forAehT iehet ¥ 0.25 HIeR Bt &
Which of the following statements is true?
(a) A convex lens has 4 dioptre power having a focal length 0.25 m
(b) A convex lens has —4 dioptre power having a focal length 0.25 m
(c) A concave lens has 4 dioptre power having a focal length 0.25 m
(d) A concave lens has —4 dioptre power having a focal length 0.25 m
21. FrTfetRad o & febe, a1t UR R T3 A bl Wfcifad Sfedifefe BT 31 {45 SATDR T &2
(a) det 3rader ST
(b) et et YT
(c) PaeT I ol
(d) 31Tt YT, I SUUT, NI i TR STl ovF
In which of the following, the image of an object placed at infinity will be highly diminished
and point sized?
(a) Concave mirror only
(b) Convex mirror only
(c) Convex lens only
(d) Concave mirror, convex mirror, concave lens and convex lens
22, TP efeh 2 HIeR & 31fee g3 IR T a3 bl T U ¥ &1 oxg Febell 8 9 &Y el (= &l
& oI BT JUANT RSP SN BT ST el &
(a)+0.5D
(b)—0.5D
(c)+0.2D
(d)-02D
A person cannot see distinctly objects kept beyond 2 m. This defect can be corrected by
using a lens of power
(a)+0.5D
(b)—0.5D
(c)+0.2D
(d)-0.2D
23. TGHTeT T FR=ITeTRAT H 3 P AT BTG SSEY b (FHT0T 7 Qe 87

(a) URTECHT, 3T9ac 317 farargor

(b) 3raacH, f&raur 3R quf aridRes wRrac
(c) 3, faegur 3R 3rafe dRrad
(d) feréraror, HrebTofT 37R Ut a7iciRe wRrai

Which of the following phenomena of light are involved in the formation of a rainbow?




(a) Reflection, refraction and dispersion

(b) Refraction, dispersion and total internal reflection
(c) Refraction, dispersion and internal reflection

(

d) Dispersion, scattering and total internal reflection

24.

1/5 Q) gTer 4T FRTEDT BT ST HRP DIH-AT AT HICRTE SHRIT ST el 87

) 1/5 Q

(b) 1/25 Q

(c) 1710 Q

d25Q

What is the minimum resistance which can be made using five resistors each of 1/5 Q-
@) 1/5 Q

(b) 1725 Q

() 110 Q
d25Q

25.

JieRIEdHdT Tal saar 1S

a) UeTef g8 f S

b) AT &t f&ar S

¢) UfRIED T 3MHR g5t T Sy
d) ueref 37k T ST sget Y ST

The resistivity does not change if

(
(
(
(

(a) the material is changed

(b) the temperature is changed

(c) the shape of the resistor is changed

(d) both material and temperature are changed

26.

et e T

(a) TR T ST BT T For DR &Y Y R I T U AR A

(b) STIT T2 BT SFST 717 ERT 2T ST aTel <ATeTeb P HRVT GIDbI & T [T ST P o foTd STIRT
[ERISIIN

(c) VIeer 3R Tt RT3 & e SiaR I & fob Herer &Ry g9l Uep foom & e &, Siafds Seara e
FHI-FHI IR 37T e Sete et &

(d) IR F, T (SeTarci €RT) & 1/50 Hebs & 91 {97 ageAdt &

Choose the incorrect statement

(a) Fleming's right-hand rule is a simple rule to know the direction of induced current

(b) The right-hand thumb rule is used to find the direction of magnetic fields due to current
carrying conductors

(c) The difference between the direct and alternating currents is that the direct current
always flows in one direction, whereas the alternating current reverses its direction
periodically

(d) In India, the AC changes direction after every 1 /50 second

27.

ERT IUBRUN T QT TfDC AT ATARANST A Tl o [T FRRIATS T ST Tl e Hecaquy Gear fafy &
(a) ST (qET)

(b) TRIST BT STIRT

(C) TSR BT SUART

(d) Seifere e & Suan

The most important safety method used for protecting home appliances from short circuiting

or overloading is
(a
(b
(c
d

earthing
use of fuse
use of stabilizers

—_— = =

use of electric meter




28.

et ferege o A

(a) FUfET Set BT Referst Fort ! farega # fvafcr o S &

b) Fufed St &t feret 5wt T Reerferet Saf 7 uRafia fasam S &
(c) STt & fireger Fieprelt et &

(d) =T S @R & fofT STt T 719 & aRafcia fhar S &

In a hydro power plant

(a) Potential energy possessed by stored water is converted into electricity

(b) Kinetic energy possessed by stored water is converted into potential energy
(c)
(d) Water is converted into steam to produce electricity

Electricity is extracted from water

20.

T ST S fATROT ST BT SUANT e AP THIDT A PIETETSST DT FHITIT IR &, S+ BaT ol &
(a) 3ECD

(b) ScUTEDH

(c) QTIEb‘I‘s’I'\jT

(d) ey

Organisms which synthesise carbohydrates from inorganic compounds using radiant
energy are called

(a) decomposers

(b) producers

(c) herbivores

(d) carnivores

30.

FIeT SfTTerT SIRT T TIT Hecaqut |aeT &

() I TRV TITRAT H TR BT QM1 AT

() T TRE0T JAAT H TR T ST BT

() freprTeHes TcITRRIT & forw &= gait &br e

() TRBRY QIR T a1 7 aif Pl & B BT T & BT FffaTg 31RrpR &

The important message conveyed by the ‘Chipko Movement’ is

(a) to involve the community in forest conservation efforts

(b) to ignore the community in forest conservation efforts

(c) to cut down forest trees for developmental activities

(d) government agencies have the unquestionable right to order destruction of trees in
forests

@s-B Section-B
TS AT 31 9 36 ST oY ITT UM &

Question No. 31 to 36 are very short answer questions

31.

TP H TR F9e ob &1 G2 A T Tt a2 Il AHDT & AT S STel ATERYT T Pl el AT b
N JUANT foaT ST 82

List two main sources of common salt in nature? Name two compounds where common salt
is used as a raw material?

32.

DT AITDT bl TG 3T AT cIeal GIRT AT ST Y AITADT 3 3T &1 & HRUT AT 39
CREARY I
The number of carbon compounds is more than those formed by all other elements put
together. Justify the statement by giving two reasons.

OR 3T
SOITST BT TS 3T 7 AUTCRYT SATGATHRUT ST it T ST 87 397 AffndT 7 ugwh
SITRAHRUT Toie (e ) BT fIRau]
Why is the conversion of ethanol to ethanoic acid considered an oxidation reaction? Write
the oxidising agent used in the reaction involved.

33.

wegH febarefietd aell Ueb €T &1 AT IalTgU T HehISS 3R A 39 ETq b [SpuU[ b o]
S ICRUNCIRCY]




Name a metal of medium reactivity and write three main steps in the extraction of this metal
from its sulphide ore.

34.

IAS FAT 52 ThepIfIHRI STier ST 3TUT3TE ey qTex fHepler 872

What is excretion? How do unicellular organisms remove their wastes?

35.

TS P 3 BT oI (a) JIT (b) ST
Write two functions of each (a) Testis (b) Ovaries
OR T
IS HTST U9 < H (a) R (b) HelllUa S & Pl 3T Seord Bl
Mention the functions of (a) placenta (b) fallopian tube in the human female reproductive
system.

36.

9 ST a1 T TREVT T PRAT A2 T bl DTS b 107¢ [SFHER &l PR bl il Y|

Why must we conserve our forests? List two factors responsible for causing deforestation.

Ts- C Section-C
T WET 37 W 42 AY IR IH &
Question No. 37 to 42 are short answer questions

37.

Tep <ATT ST H 2 T [eaR FARTES [oRIT ST & 3R <131 (S27 1 6 T & (ol G Y
AT H RGT ST B S Al H MUDT faciiehT T 8RIT? S Mol IRIR—If~eh Uferfsham o
R feT AR (+1eh |HHTepRUT b U ¥ foTd| RArIfep TfeifehaT o TepR & TererT e

2 g of silver chloride is taken in a china dish and the china dish is placed in sunlight for some

time. What will be your observation in this case? Write the chemical reaction involved in the
form of a balanced chemical equation. Identify the type of chemical reaction.

ORI
SIEIE ATHSHAT Sea T IR el ATIRT SEIe iR I AT STIESH BT Th-Uh
SEIERUEISN
Define the term decomposition reaction. Give one example each of thermal decomposition
and electrolytic decomposition.

38.

HT: T HCL 3R NaOH fderi g a1 RegerIl A 3R B H Aietl foTeH™ faera STefT T &1
TR IRt & T gfRerci= SRaT STQr? 7 gReci=T STy 3R SHebT RUT Sy

Blue litmus solution is added to two test tubes A and B containing dilute HCL and NaOH
solutions respectively. In which test tube a colour change will be observed? State the colour
change and give its reason.

39.

o &7 eI Q AT bl TS (96T T FHSTSY

With the help of a diagram, explain cleansing action of soap.

40.

Heof 3 YN T Y U TheldT & [ 180T T v § R & el &2

How do Mendel’s experiment show that traits are inherited independently?

41.

10 Q, 15 Q, 3R 20 Q & 7 TRRIeS Ta ufvwer 3 fis & S gV &1 Ik 15 Q, feRres F
e fRrae (frataR) 3v &, ar aRuer  gRr 3fik 10 Q, fcRieres 3 favg fiRrae s KT
Three resistors of 10 Q 15 Q and 20 Q are connected in series in a circuit. If the potential
drop across the 15 Q resistor is 3V, find the current in the circuit and potential drop across
the 10 Q resistor.

OR AT
50,10 Q 3R 15 Q & I TfRIeD 2FeT 4 IS 57 & 3R FASH 30V H 33 F JoT g1 8
afépe 7 TR 3R dlecHicr IS §Y &) T SUBRUIT T Iferet 369 A SireH aTell U Afdhe 3R
F1g1 10 Q ufery 7 warfed e 3iR favaiaR @ 82
Three resistors of 5 Q 10 Q and 15 Q are connected in series and the combination is
connected to battery of a 30V. Ammeter and voltmeter are connected in the circuit.




Draw a circuit diagram connecting all the devices in proper correct order. What is the current

flowing and potential difference across 10 Q resistance?

42.

T b1 &1 H R HRIETe! ATete GRT AT fohdl R &t bl Tt FeiRey et & forg
TRh {1 BT AT, faleRuT oIt JeTeRuT Hied et Dyl
Name, state and explain with an example the rule used to determine the direction of force

experienced by a current carrying conductor placed in a uniform magnetic field.

Ws-D Section-D
U AT 43 W 46 Sf STRT Uy &

Question No. 43 to 46 are Long answer questions

43.

T g arffemaan ot IaTeRuN |fed FHST
(a) (i) BT ISHIRoT Ao
(i) SiTerTenvuT Srfrfehar
(b) AT TR AT DT ITchT AT 3R HOR STl H TPTS 3T P TR TR JT DIl
(C) ATSFATRIET T TRT SIS
Explain the given reactions with the examples

(a) (i) Hydrogenation reaction
(if) Oxidation reaction
(b) compare soaps and detergents on the basis of their composition and cleansing action in
hard water.
(c) Draw the structure of cyclohexane.

44,

(a) B UTET & UTT ST dTet 0T & YR i TRET HINTY 3T 33 TR T A1 918V | $ Hfehar
& foTq STaeaes 75 AT DT el STgYl SfeciRad Hfsham & foTg rrifes eftep=ur 1l

(b) 3 TfRaT & SR & arett i sreAd frRau)

(a) Name the process and explain the type of nutrition found in green plants. List the new
materials required for this process. Give chemical equation for the mentioned process.

(b) Write three events that occur during this process.

45.

(a) AT ¥ fop=T HTETH H I PR UR 1T b <ATeT I H I HI T ATt 81 STl &1 a1
HTUET I HIEH T AU ST hITTY?

(b) 3TUETID n, P UaTe A T el T Yeb Teld DI SAYAIID n,, b HTEAH N T T &1 Tl TR
Qe YepTeT fehwoT JMafera BielY 81 et T Tole i et areit TepeT vl & ey s=1d, It
(i) n,> n, (i) ny=n, (i) n,< n,
(a) On entering in a medium from air, the speed of light becomes half of its value in air. Find
the refractive index of that medium with respect to air?
(b) A glass slab made of material of refractive index n1 is kept in a medium of refractive
index n2. A light ray is incident on the slab. Draw the path of the rays of light emerging from
the glass slab, if
(i)n,>n, (i) n,=n, (i) n;<n,

ORIT
RN 30T Bl T o fofT s fadvsT & T 17| E¥aRaT fI9NsT =¥ 599 9237 & oy v
TN R T IUART 2]
(a) ORT T UPHHT 3R $HP ITINT BT HRYT I
(b) BT f4RINET DT i DT PEI EAN/IHST AR THeh I DT ARG 3R TST AT I1H
g
(c) UM S oikT T ichet X 10 T & 3TR oIk &l &l J 5 AT o & 0 T ST &, T wiferfaa
T R 3R SATBR ST BRT o [T ol o BT SHANT v

10



Rishabh went to a palmist to show his palm. The palmist used a special lens for this
purpose.

(a) state the nature of lens and reason for its use.

(b) Where should the palmist place/hold the lens so as to have a real and magnified image
of the object?

(c) If the focal length of this lens is 10 cm and the lens is hold at a distance of 5 cm from the
palm, use lens formula to find the position and size of the image.

46.

(@) SIS Ich TP BT ITITT AT I 57 BHIR STER H SRS bl HHT J 81 aTelt dTRT BT
AT JATSY 3R IHBT T T&I0T FATST
(@) IR F TARDT 3T fhT UHR I IR 572
(a) Why is the use of iodised salt advisable? Name the disease caused due to deficiency of
iodine in our diet and state its one symptom.
(b) How do nerve impulses travel in the body?

OR 3T
(@) IR T AT IV 3R I W FF=ATARIT I ofaet D
(i) SgTSC (FHeT)(il) PIRABT B (iii) ATHD(brsicp) (iv) T
(b) =R & NI} < AT FAI:
(i) ST&T T T e 2
(
(
(
(

if) ST HTE2r™ R T feeT ST & o0 H ITAT el &l
iii) STET %7 ST T JTRY TR & foTu IATRf~ep Hepet F aRRafdie fpam S anfaul
iv) RRHARGER Sierer (et Uefter |fer) et gkt v
a) Draw the structure of a neuron and label the following on it:
(i) Dendrite (ii) Cell body (iii) Nucleus (iv) Axon
(b) Name the parts of a neuron:

(i) Where information is acquired.

(ii) Through which information travels as an electrical impulse.

(iii) Where this impulse must be converted into a chemical signal for onward
transmission.

(iv) Define neuromuscular junction.

11
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26
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